1. Put the sentences in the correct order according to the text.

a.
b.

d.

e.

B-

....... Bran woke up and confronted Leaf.

....... Leaf was standing near the weirwood tree.

....... The tied-up man was screaming; then, he fell silent.
...1... Bran and Bloodraven travelled back in time.

....... Leaf explained why they created the White Walkers.

....... They arrived at a cluster of stones and saw the tied-up man.

....... Bran saw Leaf while she was stabbing the man.

2. Complete each sentence with the correct ending in the box.

® e p T oo

Jon Snow killed a White Walker with his .......ceeeeeee .

The Children of the Forest created the White Walkers against .....cccoevveveeeen

A shirtless man was tied to the trunk of ...l .
The White Walkers are now living ......ccovvuenneeen .

The Lands of Always Winter includes ......ccccvvvvvuneen

the weirwood
dragonglass )

the First Men
magical powers
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